
   

   

 

Match the graphs to the following equations: 

𝒚 + 𝟓𝒙 = −𝟒  matches graph ________  𝒚 + 𝟐𝒙 = 𝟏  matches graph _______ 

𝒚 = −𝟓𝒙 − 𝟐 matches graph ________  𝟑𝒙 − 𝒚 = −𝟏 matches graph _______ 

𝒚 = 𝟐𝒙 + 𝟑 matches graph _________  𝒚 = 𝒙 − 𝟓 matches graph ________ 

 

Solve the following simultaneous equations using the graphs above: 

a) 𝒚 = 𝟐𝒙 + 𝟑   b) 𝒚 + 𝟐𝒙 = 𝟏    c) 𝒚 = 𝒙 − 𝟓 
𝟑𝒙 − 𝒚 = −𝟏        𝒚 = −𝟓𝒙 − 𝟐       𝒚 + 𝟐𝒙 = 𝟏 

 

 

d) 𝒚 + 𝟓𝒙 = −𝟒   e) 𝒚 = 𝟐𝒙 + 𝟑    f) 𝟑𝒙 − 𝒚 = −𝟏 
𝒚 = 𝟐𝒙 + 𝟑        𝒚 = 𝒙 − 𝟓        𝒚 = 𝒙 − 𝟓 
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